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x+15) Now distribute the negative -1.
    

4) Now perform the integrations from 3) above. 

3) Now we can assemble the pieces together.  
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1) Rewrite this as shown: 1
2
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2) Because the degree in the 
    top is bigger, you have to divide. 

2) Now setup the integral. 
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If you practice every day, you'll learn all you need to learn. This is 100% guaranteed. 
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Find the antiderivative of  xln(x+1)dx

Key idea: Apply the concept of ILATE. This is how you choose u. In this case, this
means u is the logarithmic function ln(x+1)

 xln(x+1)dx 
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